Przekrdj 25-25
km 1+250,00

Powierzchnie:
wykop=1,40 m?
nasyp=0,00 m?
e kostka kamienna

Przekrdj 26—26

km 1+306,00

Powierzchnie:
wykop=1,90 m?
nasyp=0,04 m?
e kostka kamienna

Przekrdj 31-31
km 1+534,12

Powierzchnie:
wykop=1,1 m ?2
nasyp=0,09 m?
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Przekrdj 27-27 Przekrdj 28-28
km 1+356,19 km 1+400,00
Powierzchnie: Powierzchnie:
wykop=4,20 m? wykop=1,54 m?
nasyp=0,00 m? — . _ nasyp=0,00 m?
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Przekroj 29-29 Przekroj 30-30
km 1+454,39 km 1+511,34
Powierzchnie: Powierzchnie:
wykop=1,70 m? wykop=1,30 m?
nasyp=0,25 m? _ nasyp=0,04 m?
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